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December — Examination 2021

B.Com. (Part II) Examination
Elements of Financial Management
Paper : BC-12

Time : 1% Hours | [ Maximum Marks : 70

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section-A 4x3'%h=14
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 3%z marks.
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1. (1) What do you mean by Liquidity ?
WD F AR T ?
(i) State rwo applications of Funds.
I & & ITAR AT |
(ii1) What is Operating Cycle Period ?
fere = ey F ¥ 2
(iv) What are the 5‘C’ of credit evaluation of
Customer ?
e i WG Jediwd & 5 9w § ?
(v) What is Break-even Point ?
g9-fomg fag w1 ¥ 2
(vi) What is Profit-Volume Ratio ? Give formula.
TY-FET ST R T ? G
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(vii) What is Average Rate of Return ? Give 4. Differentiate between PERT and CPM.
formula.

e T R N ¥ 72 A S

(viii) State the name of four techniques of Financial

T TE @A § SR daEd|

5. X Limited has closing stock of ¥ 2,00,000, Total

liquid assets are ¥ 10,00,000, Liquid ratio is 2 : 1.
Statement Analysis.

ygfv fagasm &t |R qArRl & AH SRt |
Section-B 4x14=56

Find out Working Capital.

T fafaee @ sifes = T 2,00,000 T1 HA W
gmfeat ¥ 10,00,000 1 @ U@ 2 ;1 ¥ wEwiE
it T i |

6. For an initial outlay of ¥ 10,000 a machine

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 14 marks.

generates cash in-flow of ¥ 5,000 for 3 years. If
gug—d

(T 30T 99)

net present value of the project.
fdor .- fF=l 9 9ol & SW ST o9 o SWoH
> \ A %‘ 'q‘r{'&
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the required rate of return is 10%. Find out the

2. What is the meaning of Dividend and conditions

for its declaration ? SRR

ST & 3 Te Soon Heidl v e § 2 7. Write short notes on the following :
3. Differentiate between Share and Debenture. (@) Comparative Statements

Y TE KUY H <R 5T | (b) Trend Analysis
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. The following information 1is given about

inventory :
TH Y ® o) H T S & T ¥

Cost per unit = ¥ 1/unit; Ordering cost ¥ 12 per
order, Annual consumption = 12,000 units;
Inventory carrying cost = 24% of cost; Normal and
Lead time = 15 days; safety stock = 30 days

consumption.

The factory works for 360 days in a year.

Calculate :
(@) Economic Order Quantity
(b) Re-order Level

(¢c) Safety Stock
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. In 2020 the position of X Ltd. was as follows :

X fafgee =t 2020 =t feafa 39 gR o - ®)

Sales 1,20,000

Variable Overhead 96,000

Gross Profit m
Fixed Overhead 16,000

Net Profit W
Find Out :

(@) P/V Ratio

(b) Break-even Point

(c) Net Profit for the sales of ¥ 1,80,000
(d) Desired Sales for net profit of ¥ 16,000
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(31) ATH-FEA ST

(%) wA-fa=g foag

(") ¥ 1,80,000 = foept o a1y

(3) T 16,000 & Y TG TewaF fosht
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